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eleje := 0
vege := n− 1
ciklus: aḿıg eleje ≤ vege

kozepso :=
⌊
eleje+vege

2

⌋
ha T [kozepso] == s:

return kozepso

különben ha T [kozepso] > s:
vege := kozepso− 1

különben:
eleje := kozepso+ 1

ciklus vége
return ”nincs”

s = 5

eleje
↓

kozepso
↓

vege
↓

0 2 5 6 7 9 10 15 19
T [0] T [1] T [2] T [3] T [4] T [5] T [6] T [7] T [8]
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ciklus: aḿıg eleje ≤ vege

kozepso :=
⌊
eleje+vege

2

⌋
ha T [kozepso] == s:

return kozepso
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Bináris keresés

eleje := 0
vege := n− 1
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Bináris keresés

eleje := 0
vege := n− 1
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ciklus: aḿıg eleje ≤ vege

kozepso :=
⌊
eleje+vege

2

⌋
ha T [kozepso] == s:

return kozepso
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Bináris keresés

eleje := 0
vege := n− 1
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különben ha T [kozepso] > s:
vege := kozepso− 1

különben:
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return ”nincs”

s = 5

eleje
↓

kozepso=

↓

vege
↓

0 2 5 6 7 9 10 15 19
T [0] T [1] T [2] T [3] T [4] T [5] T [6] T [7] T [8]
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ciklus: aḿıg eleje ≤ vege

kozepso :=
⌊
eleje+vege

2

⌋
ha T [kozepso] == s:

return kozepso
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return ”nincs”

s= 14

eleje
↓

kozepso
↓

vege
↓

0 2 5 6 7 9 10 15 19
T [0] T [1] T [2] T [3] T [4] T [5] T [6] T [7] T [8]
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Bináris keresés

eleje := 0
vege := n− 1
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Bináris keresés

eleje := 0
vege := n− 1
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különben ha T [kozepso] > s:
vege := kozepso− 1

különben:
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különben:
eleje := kozepso+ 1

ciklus vége
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Bináris keresés

eleje := 0
vege := n− 1
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különben:
eleje := kozepso+ 1

ciklus vége
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Bináris keresés

eleje := 0
vege := n− 1
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return ”nincs”

s= 14

eleje
↓

kozepso=

↓

vege
↓

0 2 5 6 7 9 10 15 19
T [0] T [1] T [2] T [3] T [4] T [5] T [6] T [7] T [8]
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